3 SGSY

Hre euflemaling (s :
L. Dr. A P. J. &lg1sv seurb
I Dr. shargume: gmor
. K. R.prymwessres

V. P Qeukis gmpes

@eupmyai :
A) IV L wpgb 1 B) I L Il whmib IV
C) LI IV opgs I D)L IV, Toho 1.

Arrange in chronological order :
. Dr. A. P. J. Abdul Kalam

I1. Dr. Shankar Dayal Sharma

I11. K. R. Narayanan

V. P. Venkataraman.

Of these
\/1{ IV, 1. 11l and I B) LI IlandIV
C) L IL1Vand I D) I IV. I and IIL.

Fpsscadriaupnet OarPle euentéd whnd BHlHusal adm geopdda &peuTTs
mlnjeuest o 6Tgy) 7

A wlGar B)  dluarC

C) 198 D) euwdl

Among the following which is not related to Industrial Development and
Finance ?

A) TIDCO B) SIPCOT

c)  THC \J;a/ ITC.

QT gibgison Klnjeue slesr &1p eyt ore Glessni Binjeuestn & péeeior_eubnier g ?
Ay Qe GlulGrredlund sinbluei

B)  whseni &sdleafiy & Qul Bgr Qalblsesaeu

C)  @igevarar yile soblusllser

D) fleoeuwsidy QuiGrreiiubd ABIGLL .
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SGSY 4
Which of the following oil companies is not a public sector company ?
A} Chennai Petroleurn Company
B) Mangalore Refineries & Petrochemicals
Q) Hindustan Qil Companies Ltd.
JZ)/ Reliance Petroleum Ltd.

4. FpHecsuLemeus il & L Srawhen Siyaies Hdledlmb g Crrquwrs

e SuTeTLLRS D 7
I Syl Caélw dleunge Hld)

. Gasdlu urgeriy bld,

@GU[D@]GIT :
A) [l o B) IT (o
C) [ wHmn 1 D} I @6'\)6'6)6\) Il @ @6\)@6\}_

Which of the following fund(s} is/are operated directly from the Prime Minster's
Office ?

I. The Primme Minister's National Relief Fund { PMNRF ).

I1. National Defence Fund ( NDF }.

Of these
A) [ only B) II only
C/J/ Both [ & II : D) Neither I nor 1.

5. &ardlgsnéol vuau@h ol afCorgCantidr. Gla BIss el eiamssaile
sranlupEing . Sibsamaw Hipblubn @rssn GlubHp alevis
A)  oallgen ' B)  upemeuser
C) ey D) a&yuumes (é&dl.

Haemoglobin is the pigment useful to transport gases. They are present in Red

Blood cells. Identify the animal which has blood without pigments.
A) Human B)  Birds

C) Earthworm \9)/ Cockroach.

GK640T 801



5 SGSY

6. ulgue I o wigque I 2 e Gurpsd, s6p Cer@ssiul Reier Gildfeamens
Qaran(® stiursa alen_ows CortrGlsd :

uliguies I u e II
( gymset ) (Corermd GLib )
a)  wermd) 1. préls @emese
b)  @uiflwri 2. wsTueSauaITT DEne
c)  Gargmeud 3. STsmeLTH
d)  Fmeyesr 4. BTTLIDET DEm6y.
GpliReer :
a b c d
A) 3 4 1 2
B) 2 3 1 4
C) 4 1 3 2
D) I 2 4 3.

Maich List I with List II correctly and selecl your answer using the codes given

below :
List I List II
( Rivers ) | ( Origin )

a) Mahanadi 1. Nasik Hills

b) Periyar 2. Mahabaleswar hills

c) Godavari 3. Amarkantak

d) Krishna 4. Cardamon hills.
Codes :

B) 2 3 1 4
C) 4 1 3 2
D) 1 2 4 3

GK640T _ 801 | Turn over
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7. ulguwd I g ulgue I o id Quiepsd. &8y Garméasiuferen @ollheaears
Qeres(® sfurar alsmsmwsd CaihGlad

uligue I ulig ey II .
a) ERIT VI IT 1. L Ehen s
b uiflés grse alurd 2. eweunen
¢} wriyd el 3. undefur
d) Qurie 4. LGumi GaGeneur.
GOlSRs e -
a b c d

o
bo

e

B) 4 2 1 3
C) 2 | 3 4
D) I 3 4 2.

Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) Cholera 1. Fungi
b}  African sleeping sickness 2. Virus
c) Phlegm 3. Bacteria
d) Dandruff 4. Protozoa.
Codes :
a b c d
A} 3 4 2 1
B) 4 2 1 3
C) 2 1 3 4
D) 1 3 4 2

GK640T 801



7 SGSY
8. slblpmnligé sdls erhprene 2 sfer wirsul L fimet 2

A)  sanellur@ofl, Comwb g, Aminr

B)  grssisey. saelureet], dlgbinaGae]

Cl  QuniiCeudll, &igndlunh, Clseranas

D) Garwbysgri, sGui®, siwyf.

In Tamil Nadu the most windforms are with districts of
A) Kanyakumari, Coimbatore. Tiruppur
VBJ/ Tuticorin, Kanyakumari, Tirunetveli

C) Neyveli, Kanchipuram, Chennai

D) Coimbatore. Erode. Dharmapuri.

g, &L'F)ili,l" uet 1 2 Le QenLiuaiw Ao SEmnliLse ef(gg[) Sl Fef et .

SieuUbbisy 615 HeupTen g eresiueng @bl (Hs
A) ISRO 8) BARC

C) NASA D) ONGC.

The name of the organisations which are associated in the Chandrayan I

mission are given below. Identify the wrong one :
A) [SRO B3] BARC
C)  NASA ¥ ONGC.
10, dpsmaon. curdbdlukisansts seel
gabmy (A o gaflaGanar sementiflés GUIrEHLQ U Hadeh.

sryemid (R} : seh&CGarellar guucisd gamnall. gopey.

e =

FCp @D Qaten @Bldigen aflurer allon_eows CanbOsi

A) (Al coni (R) @eso @i sifl, Quepd (R) edig (A) aflibe #flus eSleng o

R) (A) wDpd (R) @7adm Qb & ., Gueyd (R) eanug (A} g sMuren allendasndve
Cl  (A) &fl, gyeores (R) geun

D) (A) eumy. gieormey (R) il

GK640T (801" { Turn over



SGSY 8

Consider the following statements :

Assertion (A} :  Planet Saturn when put in water it would float.

Reason (R) . The planet Saturn has a specific gravity less than one.
Now select your answer according to the coding scheme given below :
\.A( Both (A) and (R) are true and (R) is the correct explanation of (A)

Bj Both (A) and (R} are true, but (R} is not the correct explanation of (A)
) (A) is true, but (R) is false

D) {A) is false, but (R) is true.

11 ellge uwsTu@ssIU@D 40 eurl @gpé’u Slend@b  ereileusney e Geor L Lid
Qeevall_uLf &g 2

Al 02 gybdiur B} 05 gybOlu

C) 1 ybiud D) 575 bl

How much current is consumed for a tubelight which has 40W for domestic
use ? :

\,0((7 0-2A | B) O5A

C) 1A D) 575 A.

12.  @idurale gour yelp@eieny Jréablal geysethd shugsTers ?
L. Gk seanT
1. wf enfl&Garr
N wlaspdlydd

V. dpaebsypb.

Gloupmyet :
A) I o Gib B) It (B
C) IV ul(Hid D) ol
Thumba equatorial rocket launching station was established at which place in
India ?
L Bangalore

I1. Sriharikota
[II.  Mahendragiri

IV. Thiruvananthapuram.

Of these
A) I1I only - BJ I only
v(ﬂ IV only D) I only

GK640T 801
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13, Shssrambd aufleele ag Crrws afl e aamas ¢iiolipe 2
A)  aumoTes eurl B)  elpuesss eurfl
C)  Geugndl eur D) Qersg eufl.
Among the following taxes which is not considered as a direct tax ?
A)  Income tax BT Sales tax
C) Gift tax D) Wealth tax.
14, olgwe I s ulgue I o Ldr Quigsd, sCp Qer@ssiu Gerer @llRsmens
Qemeior(f gflure ellanewd CarhOsd :
uligweén I uligwen IX
al  HhS SUPSSHIIUL DL LIGTOTIUT ST &6 1. prestarhd Blavewd OsTiles
' B 1 &0 5 & el 6o
n@uL'_@dTaﬂgur'r&éﬁ
b)  Gleustener GpsaOIL e uedlursrissi 2. @)yedorLmb
BlenavgGigmbley
BL. 61 660 &l
F(Hu (DeTaneurt & 6f
. c)  dleuly spssLul sl ueslluren T & e 3. obsTh Heoaws CemPle
BL cug Semauiley
FHLIZ (D6 emeuT & e
d) P aWwsHslL e Luesiluren(s s 4. oL Qample
BHL 6L Sendidley

FHU(HeTemeur &6 .

A} 4 2 1 3
B} 1 3 2 4
C) 3 1 4 2
D) 3 i 2 4,

GK640T [ Turn over
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15.

16.

Match List I with List Il correctly and select your answer using the codes given
below :

List I List II
a) Gold collar workers I Involved in quaternary activities
b) White collar workers - 2. Involved in secondary activities
c) Red collar workers 3. Involved in quinary activities,
d) Blue collar workers 4. Involved in primary activities.
Codes :
a b c d
A} 4 2 1 3
B) 1 o3 2 4
N 1 4 2
Dy 3 1 2 4.
@bdlwralles (pHeT(LpHaTe (Sm_leﬂrr;mhemm ATTLEH wusess Gler by
A)  elies Sy B) arsen Jiyy
C)  ematli Soy D} flaues gy,

In India, the first Agriculture Research Centre was started by

A) Lord Lytton \-B) Lord Curzon

C) Lord Canning D} Lord Ripon.

Shésar arsdlunsomend saef @

gabmy (A) : @by Gadu Gubsgde sfea Jdpyellear 1905 b Syetmgel
suhisl Uiflellemen SalTourasgih@ 2 Ly SITamnrs enhes;.

argasid (R) : eberarsdelphs Ghabseetyd weveSbamenyd Uereyfss).
aunsrargdler  Capdlu  ghpoweown  figoouuGs.  sigalld
2_cuoienlown st GHTH&HLITGD.

8 &ML Refrer @O ge sflurer alsoLomws Caib@s@ :

A} (A) b (R) @res@o ¢, Gueud (R} ereitug) (A) olbe sflurar alleréeinees
B) (A wbmid (R) @geﬁm@m aifl, Gueud (R) sretiuigy (A) alb@ eflurer alensan

C) (A) effl, gyesmén (R) g,s;JQJ |

D)  (A) seuny, syeme (R} &l

GKG40T 801
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Consider the following statements :

Assertion (A} : The partition of Bengal in 1905 provided a spark for the rise of
extremism in the Indian National movement.

Reason (R) : Curzon’'s real motives were to divide the Hindus and Muslims in
Bengal and to break the growth of Bengali nationalism.

Now select your answer according to the coding scheme given below :
\,9( Both (A) and (R) are true, but (R) is not the correct explanation of {A)
B) Both (A} and (R) are true and (R) is the correct explanation of (A)
C} (A} is true, but (R) is false
D) {A) is false, but (R} is true.
17, ey euflifies eufl BHlopayn eufldsowyb oot $Cs aligdlng
A)  sumrest suif] B)  alpueer eufl
C)  wdliysan Heu , D)  Gaeeudsl Leob ( sufl ).
In which tax the incidence and impact is on one and the same person ?
\;9/ Income tax B)  Sales tax
C)  Value added tax D)  Service tax.
18, &mov suflems g erpas
[ arn Geush
1. fs @@g;i.b
Ul we®r Geusd
V.  eysieusst Geuglb.

@GU[‘DIQJGT'T :
A) LT, 11 hmie TV B) I, IV, I wpaub 1I
C} IV, [, Il bhHmuo 11t D) I1. 11, I whHmb IV.

Arrange the following in chronological order :
L. Sama Veda
II. Rig Veda
III.  Yajur Veda
IV.  Atharva Veda.

Of these
Al LIOLT& IV B) HLIV,1&I
C) IV, H & 1 wr ILILT& IV, ',
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19, wuliguwe 1 & uligue II o Ler Quimsdl. £8yp Qar@ssuul Gerer GilliGemens
Qaram® sflure elean_cmwus CarmhQsd :

Ligwés X uligwés II
a)  (Wse mbsTes@ SlLLD 1.  searallevnsy Glumnse
b)  Gueoiimb soparen® HiLn 2. Gevetreireow  whmud  Gigmiblen
euenT& &
c)  epedipmD mbsreds [ Sl 3. Geuenmessianin euentsd 4
d)  preTsmd sheTas(H Siilb 4.  sasd Qaribley eueriéd,
Gopser :
a b c d
~A) 2 4 1 3
B} 1 2 3 4
C) 3 4 2 1
D) 3 4 1 2.

Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) First Five-Year Plan 1. Self-sufficiency
b) Second Five-Year Plan 2. Agriculture and Industrial
development

¢} Third Five-Year Plan 3.  Agriculture development

d) Fourth Five-Year Plan 4. Heavy industries development.
Codes :
| a b c d
A) 2 4 1 3
B) 1 2 3 4
C) 3 4 2 1

&3 4 1 2.

GK640T



13 SGSY

20. uigué I s ulgue II o rar Qurepsd, sCp Qar@asiul Beier @nubsomsrs
Genem () efiure alen_sows CamhHdH :

a}
b)
. ¢)
d)
GoluRse
a
A) 2
B) 2
C) 1
D) 3

2

ucigues I

erg. Gep. wmum

4

6T, 6M6ny. LLLIBIT&IT
. ereiv. Gamggmf]

Q&I &mImuml

l.

UL igwes II
1. ofaiud Qsrfle  oypmisé
& P&
2. Sgmesd glon
3. eflemQeusl gyrmidél pliyeuetd

4.  urgsTly Q@eﬁ]m@ (Bl pyeueniiD.

Match List I with List II correctly and select your answer using the codes given

below :

al

b)

c)

d)

Codes :

e

B)
)

D)

GKB40T

List I

H. J. Bhaba

D. S. Kothari

S. 5. Bhatnagar

Vikram Sarabhai

List II
1. Scientific and industrial
research
2. Atomic energy
3. Indian Space Research

Organisation

4. Defence Science Organisation.

801 [ Turn over



SGSY 14

Pa s . . R N Ty e ol o R
21.  &|phGesLemeuUdsanen &iTaupemmUuly. eurlema Uy el &y

[. '..‘-:':; L] o =T eD

A) IT, III. I whmd IV B) IV, IL Twhmb I
) I 11, 1L iopmnn IV : D) UL L IV ohon 11
Arrange the following periods in a chronological order :

L. Neolithic period

II. Mesolithic pertod

[II.  Chalcolithic period

I'V.  Palaeolithic period.
Of these
A) I I00, 1 & IV VB{’ VOO T & 101
C) L, I I & TV D) I, I, IV & 1L

22. spshsainL eumdhSluhsenen

2 -
I qumyr bl 13!;_;;. LT eTesTedIT g;e‘meoemmuﬂeb
holarelenIupn  ienshdl  BL e &Hem s sel
@dlas Caraasenu 35 su@ssng.

I 195660, weeisus  Spmmeed  Hlevewd uLbUTLSG  HHlepsier
grrbGullé eemnésiul [ peolQupsing.

Eeuhnysh e gm/arameu sifl :

A) 1l Q(i B) 1w Qi

C)  Iwbhmib 11 D) Ib @eemew b Glevemen.
Consider the following statements :

L. The Atomic Energy Commission was set up under the Chairmanship

of Homi J. Bhaba to formulate a policy for all atomic energy activities
in the country.

II. In 1956 India’s first nuclear reactor in Trombay near Bombay began
to function. ‘

- Which of the statements is/are correct ?
A) I only B) Il only
\,@{ Both I & II D) Neither I nor II.

GK640T (801



23 ulguwée I & ulgue II oL QuIess,

1b

Qe.icoi® sfwres allew_sowg Borbos@ :

a)
b)
c)
d)
@R er :
a
A) 4
B) 1
C) 2
D) 4

uiguide I

oL &1

Gaouard) (peom

@EUEHD el

aSy&siblpsst enes
b c d
3 1 2
2 3 4
3 4 1
2 1 3.

SGSY

8y Cerpssiu Geien @BlUlsmeand

uiiguen IT

1. Guflwr . Geu. grwgmd

2. LT&LT ere). smHbmbun el

3. LrsLi apdaieendl Gyl

4. dusgru Geligur.

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
a
B) 1
c) 2
D) 4
GKB40T

Justice Party
Devadasi system
Vaikam Hero

Veera Tamilannal

List I

List II

1. E. V. Ramasamy Periyar

2. Dr. S, Dharmambal

3. Dr. Muthulakshmi Reddy

4. Thiyagaraja Chetty.

[ Turn over
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24.  Sp&HsEIsuhHnIeT 6 g)

A)
B)
C)

D)

Guirest s @ev —
Camreuai —
Guieiyeur —
S dlur —

16

BT &HLLT

b Ggm

1 Goed!

@eumediur

gflurad GurEhealldvemen ?

Which one of the following is incorrectly matched ?

A)

B)

Bhonsle —

Holkar —

Q’J/' Peshwa —

D)

25.  SphaetoiLeube &g

A)
B)
C)

D)

Scindia —

HWTTEHWE s &
urireurr () dlenmé
(peuedin a)s &g
Bahla el &l

Nagpur

Indore

Delhi

Gwalior.

gflurel Qurmhsaldvane 2

C. R smsu

gLTey &halyGLma

HEUTLI & GUI(LHEIGUIT BT 6T .

Gruflwrt 5. Geu .

Which one of the following is incorrectly matched ?

A)

B)

C)

B

Swaraj Party
Forward Bloc
Muslim League

Justice Party

C. R. Das

Subhash Chandra Bose

Nawab Salimullah Khan

E. V. R. Periyar.

26.  Sp&seoeubmet ergl sflurel Qurmhading

A)
B)
C)

D)

GK640T

QW_évell grrume
SUIBeu UMY S FRSD
@bl sheDd

Ebdlu LamslumerT &R

S. N. ureniel)
FeUTT &M 8CHn STl
BrsTUTD Qben Gimed

W. C. uremiighl.
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Which one of the following is correctly matched ?

A) Delhi Durbar —
\B’{‘ Abhinava Bharat —
C) Indian Association —

D) Servant of India Society —

S. N. Bannerjee

Savarkar Brothers

Dadabhai Naorgji

W. C. Bannerjee.

27.  #héaaysubnet eg sflurs GQurmbsalaamen 2

Ayl Gorgm A s

B) & gre dlyné

C)  elleeilud Guetongm Sy

D) 40 usscGdlfle) Henisdldien rHuc g

Geugym™ & evmD
Uen_ & Herud
Q) ctTen et 4 @HHT

&Qeometay QUITFLIsN.

Which one of the following is incorrectly matched ?

Al New army regulations

B) Sir John Cradock

C) Lord William Bentinck

»D{y 4th Regiment rose in revolt against

28. ulgwé I o wlgué II 261 Guamsd,
Qaren® aflurar ale_aws CarbGal

g uwes I

a) Sysruenmin

b)  epiflam

¢l eundlylirGsen

d)  Gayen
eplips et

a b c d
A) 3 .2 1 4
B3) 4 3 1 2
C) 3 4 2 I
D) 2 1 4 3

GK640T 801

af@gp

Vellore mutiny .
Commander-in-Chiefl
Governor of Madras
Colonel Forbes.

Qer@ssnu’ @erer @hifsamenéd

g uen I1
L eb7 6Tl
DT & 657
O
Glur@.
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Match List I with List II correctly and select your answer using the codes given

below :

D}

3

2

List 1
Assam
Orissa

Andhra Pradesh

Kerala
b c d
2 1 4
3 1 2
4 2 1
1 4 3.

List II
1. Ponam ’
2. Mashan
3. Jhum
4, Podu.

29, ulgue I e ulgud I o e Quipsd. £Cp Qar@esuul Gerer GlliRsoens

Qareo @ eflura el aws Cainpa :

aj
b}
c)
d)
GolRser :
a
A) 2
B) 4
NS
D) 1
GK640T

( sevofleof] semevqpsopaar )

pigwes I
sHEUTEOSIL HemewpenD
(pFEereug)

@71 Teug)

CLPEBTIDITEU &y

3 4 1
2 1 3
| 4 2
4 3 2

uiguwes II
1. ELIT 6 5 &ff
2. gpoudlocnns Bdrshon
3. DOhETD Sereu(benD

4. wgpredlev .
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Match List I with List II correctly and select your answer using the codes given

below :
{ Generation of Computers )
List I List II
a) Present day 1. Valves
b) First 2. Integrated Circuits
c) Second 3. Fifth generation
d) Third 4. Transistors.
Codes :
a b c d
A) 2 3 4 1
B) 4 2 1 3
C) 3 1 4 2
Dy 1 4 3 2.

30. SPpsacil swbrsaner oLl

SqUUGSleow Qe igw Ner 1Sesr@id custd (peomég ‘GrriLier eem Guut §)s
srLdlifléy Qe Lwiiuhdime

L. & (HDL

I ©Omés

U umes

IV. scooreu.
Gleubmyst :
Al Twl@n B) 1l bl
C) T w_ (i D) IV w!_(Ho.

Which is the correct statement ?

‘Ratooning’ is the process followed in the cultivation of

L. Sugarcane
II. Paddy
[11.  Cotton
IV. Jute.
Of these
VM(. I only B) Il only
C) 11 only D) IV only.

GK640T 801 ' | Turn over
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31, ulgwée 1 ( uneeeshsel ) & ulgud II ( BrEse ) 2Lear Qurpsd, &6y

QarHsstu Meien GHiRsmens Garan® sflure ale_swus Corhoa@ :

a)
b)
c)
d)
GDlPser :
a
A) 1
B) 2
C) 4
D) 3

g weés I
T
S & M
gT@& 60
Camdl

b c

3 4

1 3

3 1

2 1

2

4.

Ul igwes IX
S udlflsar
georm

&lebl

@b,

Match the deserls in List I with their respective countries in List II correctly

and select your answer using the codes given below :

a)
b}
c)
d)
Codes :
a
A) 1
B) 2
o
Dy 3

GK640T

List I
Thar
Atacama
Sahel
Gobi

b c
3 4
1 3
3 !
2 1

801

List I

Africa

China

Chile

India.
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32, EL&H6E@IL sabsmen LS |
I Ganme LTeglay e Ceusre GHRIn Camer Lge
I Qasueumi gsfluames spaapeon sbileuy 687 prlser Coaaiu@Gaing
L. aefl&EComet @ thueil bimha 5 oub @L-sld Semivhaerens.
Gleubmyet ergy / sremen &ifl :
A) 1L Hb B)  lwpm I
IC) II whHmb I D) L ITwobmo I
Consider the following statements :
[. Mercury has the fastest orbital motion
1. Mars requires 687 days to complete one revolution
[II. Saturn is the {ifth planet from the sun.
Which of the stalemeni(s) is/are correct ?
A)  lonly B Tandl
C) 11 and III D) I, I and III.

33. shlprTige o emen wameluGdiast GleusGan ugdlssila LhGary CuWTHeTTEy
Seopsalubdlamen. ulgue I ( veowlugsiss e LGHeet ) g
ulgué II ( seupdlesr Guwiser ) 2 Ler GQurmpsdl, &Gy Gar@ésiul Herer
@hldfeameis Qaran( sflurar el omus Caibdsd :

UL g wen I - ucigwé 1T

a)  Geugyrit 1. Qerdaeiivansy
b) (BITLD & & 60 2. SHaUTMLEN LDemey
c) Gﬁ@DL{UL‘D. 3. Gagréd woe
d)  Hmeucsmaoimioese 4. godlfl veve.

eBlipser :
a b c d

A) 2 3 4 1

B) 3 2 1 4

C) 4 1 2 3

D) 1 2 3 4

GK640T [ Turn over
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In Tamil Nadu hill rocks are called by different names in different areas.

Match hill rocks areas in List I with their different names in List 1I correctly
and select your answer using the codes given below :

List I List II
a) Vellore 1. Kolii hills

b) Namakkal 2. Kalvarayvan
c) Villupuram 3. Gingee hills
d} Tiruvannamalal 4. Elagiri hills.
Caodes :
a b c d
A) 2 3 4 1
B3) 3 2 1 4
NZH R 1 2 3
D) I 2 3 4
34.  SPpE&eeri sabmidene 2y TTbE e1gl [ eeneu sfl siem Glar@ssiul RDeen @hUfaesh
cpauld Gaia :
L o sddlmpng ofed Seamomiyd umassnhn yeldar &phéllamd
Hene wrd e Cuopars aledlpn. Ges Uaammiud umeudharbn
ETeETUIT,

I e sdlippg alad derarmiuyb uGeabsarhry, dalller &pndiomnd

fang widl e dpsers aladlng. Qes SNerareiwb LmEaEHsTHI
eretTLI,

Qleubmyeir :

Al Tl B) Il

C)  lobnw I D) I Gevemen 111 @evemen.

Which of the following statements is/are correct ?

L. In India. the winds that blow from north get deflected and come from
the north west. These winds are known as the ‘retreating monscon'.

IT. In India, the winds that blow from the north get deflected and come
from the north east. These winds are known as the retreating
monsoon’.

Of these
A)  lonly ' \.B( 1l only
C) Both I and II _ D} Neither I nor 1I.
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35, SpSHEuL. Gt ue
I Qursdf Qem_méeb - farels QgriGeen Geniilld emuhgieien g
@oréady QBT
11. LBEm e & ETh &g @@L@m GubhensuTalos  HEOWHS UTERG  HertieUll
6T &t SLH{HID .
@leubmyei ety | sremeu gifl 2
A) 1ol (o B) Il {Hbd
C)  TwdHmd 1 D) Ib @eemer [T Glevenen.
Consider the following statements ; |
L. Himachal lies between Himadri and Siwalik ranges.
I1. Passes are the natural gaps across the mountains.
Which of the statements given above is/are correct ?
A) I only B) Il only
\Q( Both I and 11 D) Neither [ nor il.

36, ulguwe I g ulguée I o dé Quipsd, £Cyp Qar@sauul Gerer @DllReamend
Qe () etiure el snwd Cafpad

uligwes I uligwes 3
a) oy evdGrellun 1.  sTl@Ré@dag
b)  Qgenr suinIMéesT 2. sr QL (mew
¢)  wyBpedlur 3. BEGMH
d) el 20ufésr 4. af&sgdlenr.
GolRee -
a b c d
A) 4 3 2 1
B) 4 3 1 2
C) 3 4 l 2
D) 1 2 3 4
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Match List I with List II correctly and select your answer using the codes given

below :
List I List II
al Australia 1. Horses
b) South Africa 2. Bisons
c) Eurasia 3. Kangaroos
d} North America 4. - Zebras.
Codes :

Al 4 3 5
B) 4 3 1 2
«“f 3 4 1 2
D) 1 2 3 4

37. @6 aavedls Geessrref whmb Gueese syrefl, weopGu 64 whHrb 8 @D,

2461 LIEHTT 8 11T vl EnT
A) 8 whnb 8 ' B) 32 npmyb 2
C)  4uwppd 16 D) 10 whpb 6.

The harmonic mean and geometric mean of two values are 6'4 and 8

respectively. The values are
A) 8 and 8 ' B) 32 and 2
&’ 4and 16 D) 10 and 6.

38. GnEs0s5H  uwGDd pan  dpp  wHLyssTls sl HH0eTare 540 eailé,

SDLEULHEnETdH GITesT s,

A) 178,179, 183 B} 176, 186, 178
C) 178, 180, 182 D) 179, 180, 181.
If the sum of 3 consecutive integers is 540. then integers are
A) 178.179. 183 B) 176, 186, 178

C)  178. 180, 182 T 179,180, 181.
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39. 5 yemser wHpd 5 GuEmest QaradiL @ GETONEhE GEHelt sweurily
wende Caibtlshseiu@dlament. oidld pEmat SeuTeanbd, LHGIDTGaT

QT TS BYH&HS Bl DHHERY .o, 2@
2 3
A) — B) —
5 5
4
C) E D) —.
9 9

From the group of 5 men and 5 women. two persons are chosen at random. The

probability that one of them is man and the cther woman is

A)

o

40. @ Quigdld o8 ereemen 4 dleuly. 5 Beb whybd 6 Usms LbHGIHET 2 eTeTer.

B)

D)

Wl g ;e
Wl i

@b ubgissT sLTLIY  (pespiles @@ﬁ@@@@&&ﬂu@sﬂﬁ@m. Sieuhhie §pEBTD)
Beonraah SRésH3 U meursayb Ghés Habasey '

5x86 5x8x2
A) — B) R —
15 x 14 15 x 14
4 x5 4 x5x2
o D) —_— .
15 x 14 14 x 15

A box contains 4 red. 5 blue and 6 green balls of identical size. Two balls are

drawn at random. The probability that one is blue and the other is green is

5x6 \B)/‘ 5x6x2

15 x 14 15 x 14
4 x b . 4 x5 x 2
C) _ ‘ D) —_—
15 x 14 14 x 15

41, wells dndrssga Ggriiyamu prendéer a&rol ag
A) Oyl A sgod B)  egrriu@ s&gull
Cl sy arul D) oy feré ayoll.
Which endocrine gland is attached to kidney ?
A) Pituitary gland B}  Thyroid gland

C) . Pancreas \B']/ Adrenal gland.
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42, s Qevastadla 6pefl LSS STEMD oooorrveroae.. T HEOPSHHILHHIDE.
A} GlpgGemrug) B)  seguiemy
C)  Syeuigd rlg o D) QyeullGuiriwr.
The opaqueness of the lens of the eye is known as
A) Retinopathy \B’{’ Cataract
C)  Astigmatism D)  Presbiopia.

43. Qgafléd sremiu@in sfure wpal@ur@ELaHet wraneal

A)  ardseT. 8TH 2 UGS, WETHSHSTE, emeu_Lblem
B)  er&&eny, Ursh, D&EJHeGTET, smeul i bler
C)  esrdamay, 18 2 Lu&sel, Oarply. eneul Libla

D)  eréser, srg 2 s, Ganaply, HdlGearr eubeun.
Find out the correct composition of Honey :

-}(}‘ Sugar, Mineral, Pollen, Vitamin

B) Sugar, Protein, Pollen, Vitamin

C} Sugar, Mineral, Fat, Vitamin

D)  Sugar, Mineral. Fat. Amino acid.

44. mr;ﬁ]u_seb GenpuT( Ghrisamst AHES HeeLennHE g os sHes 2 Gad (D

Al 2L hGee e Hlfldame (poon B) &swnibsd g Sldldems wpeon
C}  @Cemmetiiy (peop D) GaflBurerL i qpsom.
Inheritance of genetic defects l.o children can be prevented by

A) Somatic cell gene therapy \B( Germ cell gene therapy

C) Cloning technique D} Karyotyping. |

45. SPEH@VIL SabhnGHensr oy :

L. ARG  Gau Heugra  @GRueo b ( BF whod Bl eumPl )

urdleaiu@dlng.
. 2 dfleenée odle o aoiay dlen d@b.
@eubmyet :
A} Tefl guesmen 11 geum B)  Iseuny gemé [l &)
C) @G afl ' . D) @guren@ln saun;.
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Consider the following statements :

I. Removal of trees and vegetation would affect both land and water
ecosystems.

II.  There will be lot of food for organisms.
Of these
\9(( [ is correct. but Il is wrong B) I is wrong, but If is correct
C) Both are correct D) Both are wrong.

46. eniédleaeor Qe flanma Crprégn Curg ue Smaamssd Qofldlamaor. @bhs
Blapé &l epeud STeurhest Loy ClFQaE6ITE Y eaney sTeInl &6 L Dibgeur

A) Siflei Guoesriéo B]  amievsu Lmrelled
C)  @uruil ands D)  @uruil Sliyeyes.
The bottle lid made of cork is viewed with the help of lens. There are many
chambers in it. This observation by .................... led to the discovery of cell.
Al Gregor Mendel B}  Charles Darwin -
‘.(Z( Robert Hooke D) Robert Brown.

47. genl&Barbams pao_Clung Caemeuume (phEull apelGIUT(HL Saf
I @ epefll, Lahiscodfim
11. 002 , HZO
L @it gefl, eouadl LrsD

Iv. H,O. eneul L Bl efr.

A) 1 & IV B) II& IV
C) I & II D) I & Iv.

Raw materials of photosynthesis are

L. Sunlight, chlorophyll
1. CO, ., H,O

III.  Sunlight, biliprotein
V. H,O. vitamins.

Of these

[ &IV B) &IV

A)
\;2(1&11 D) M&IV.
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48. ulguwe I o ulgue I 2. Qurpsdl, &G @&rr@é:a,l_'JuL@Gfreﬁ GO semens
Qemen (@ sMures alenLawsd CarbGs® :

Ul g weén I Lhligweo II
al  &ssl 1. Oeudylb
b)  syodler 2. Qurf
¢} wlimesh 3. 2ep Geuy sl
d)  GleuimenL 4. Guni.

GORser :
a b c d

A) 2 4 1 3
B) 4 1 3 2
C) 3 1 2 4
D) 1 2 3 4

Match List I with List II correctly and select your answer using the codes given

below !
List I List II
a) Brinjal 1. Legume
b} Apple 2, Berry
c) Pea 3. Septicidal capsule
d) Lady's finger 4. Pome,
Codes :

(e} b c d

J({ 2 4 1 3

B) 4 1 3 2
C) 3 1 2 4
Dy 1 2 3 4.
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49. Feouned SenUQUTBL &6 61616
I s Gursmam Gl
1. Q@amopliy

1. ypso

V. eveulLiblanae.

A) L I whoin 1V B) L wpryd LI
C) L W whod IV D} L L T whois TV,

Respiratory substrates are
L. Carbohydrates
II. Fats
IlI.  Proteins

V. Vitamins.

Of these
A) L llandV \B/ [, Il and I1I
‘C) L WandIV D) I I 1l and IV.

50. o ywstela A, B, C. D opnid E egul bg wraoeuisd sult augeigbdld
SoThgeTeneTt. Geurseilée A egyd wreaseaur CgaGuhens uridHsn, D b
LT GO LT @g,s&raﬂbpéssm&»u UTT @b yonphaetenetm. B whmb E ergud wremeut e
A wdns D @ Cpi erdlgns o eterent. Coeyd C ereud wresieui D wbmin B &@
su@greneale Grullst C ergub wrewisuil e gHansaw Grmadl EmuumT 7
A} Gubpe B)  Gabe
C)  aL&® D) dlpss.
Five boys A, B. C, D & E are sitting in a park in a circle. A is facing south west.

D is facing south east. B and E are right opposite to A and D res_pecti\;rely and C

is equidistant between D and B. Which direction is C facing to ?

A)  West ‘ B)  South
C) North \}M/ East.
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5. epmeuflar wrg sumorend . 28.000. geumen w Qawealarion, Gellih UL bHd

QueTResuufenerg). seum CluripsGunsdlibe Ceaeln Qgmens wrs

Gur dgeu] b
20%

Qi apgrE

A) e 1950 B)  e5.1960
C) em. 1970 D) . 1980.

A man earns Rs. 28,000 as monthly salary. His expenditure and savings .are

given in the diagram. How much did he spend on entertainment ?

Rent 13%

A) Rs. 1,950 \B{' Rs. 1.960

C) Rs. 1.870 D) Rs. 1.980.
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52. g elururfuraor searali_b 2.eien QuTnl s o) &5 olawaoual 20%
gnBpan s llaney Mol Qsbsg __'.:,_-D_?.ﬁl;:'. s 10% gef@puglles elbLene
QeidlprT ereiey. i g Banl #gealad
A) 5% 13) 8%
) 10% D} 12%.

The trader marks his goods at 20% above cost price and allows 10% discount.

Then the gain per cent is
Al 6% & 8%
C) 16% D) 12%.

53. e cuEulin eaderiar cugsdlurerg reoveuliGuid 12 wLbig. Bl Guré

5w g, ooaiensy. Gioegld Belurers 24 eresiles, auE b ereso
A) 1224 B) 1242
C) 1222 D) 120.

In a division sum the divisor is 12 times the quotient and 5 times the remainder.

If the remainder is 24, then the dividend is
J(( [224 B) 1242
C) 1222 | D} 120,
54.  geudGerm QeuliL @e (weopla sspblalugdles Lg
A) sy el g @enrihgl B)  elaerBeus wrhml
C)  &@6d ' D} wllrsdl.
The role of aluminium in aluminothermic process is
A) oxidising agent B3] catalyst

J&)/ reducing agent D) moderator.
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55. ulguwe I e ulgue II o Lar QuUrEsgl. $Cp GarfssiulGae ehllibsaes

Glaren( eflurea sl ows Caim@s®

@OReer -

D)

a)
b)
c)

d)

2

1

ulgues I

uliguwes IX

HESIE BIeTTEHHUULL. HidheHd 1. Sy&entlepGenipm -

Siflevisauhe GurCrlud e @Crren. 2. 5O&s elaar aryewm

STeuHLITET Giipdse

eTudLIres g HmeL

4

2

1

4

3

3.

3. ph&abd
4. y&adlgGearhi).

Match List I with List II correctly and select your answer using the codes given

below :

GK640T

Finely divided nickel

List I

List II

1. Oxidation

Acidified potassium dichromate Z. Reducing agent

Loss of electrons

Gain of electrons

3. Reduction

4. Oxidising agent.
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56. uahgirer 2.yb &paremiueuhnet erdlellmha QupLuGSng 7

A} usEHETEUID HOID BT &ibleyser

B)  sawleml wHon Q&THEeem

C) GEETUEmL WHNMID LS ehd M eusTh

D) usepanawid bHRD olehies & Lpleaysel.

Green manures can be obtained from which of the following ?
A) Cowdung and plant wastage
\B( Sun-hemp and cluster bean

C) Sun-hemp and cowdung

Dj Cowdung and animal wastage.

57. Bleipeund yese adiug i 2 Caregdlar Lyl g whBori o Gevrasgdlane
Bleremmbu@ iy cpod LaLuBsed HGh. 0 Clouaels sreog e B shesdaer
Bleigpeurd  yaser peoplide, Gasielld  SUeong ... %6 TRHHE

Qameienul Geueto Rib.

A)  edlibereuri

B) Gridleeumi

C)  Desuge

D) (A) wbobd (B) @)7eto (.

Electroplating is a process of coating one metal over the other metal by
electrolysis. In the electroplating of silver spoon with gold, the silver spoon must

be taken as

W/ cathode

B) anode -
C) electrolyte

D) both (A} & (B).
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58. ShéeeiL apnsamer yinhg o5 / aoa ofl o QEThHaslul Geier ghliyser
cpevid Geiras :
1. S eaileGanhngdlen. mam romesn Gaihame pet Gumdng
. oyellnCGahpidle. aas jrar Quése nalGundng
Il suseilmGarbpgdlen. srevslymen ghpe peo Qunidlng

V.  ghalmGarhngsle, Cribda et yual Gorsbaliu@dng.

Qleubmet :
A Twpmo N sflureraeal B) Il @i &flwuresg
C)  Hwlgd sfurers D} lwpmd IV shhureteneu.

Which of the following statements is/are correct ?
I During oxidation. addition of hydrogen takes place.
II. During oxidation, loss of electrons takes place..
. During oxidation. gain of electrons takes place.

V. During oxidation, addition of electropositive ion takes place.

Of these
A) I & IIl are correct B) II1 alone is correct
,_Q{i Il alone is correct D) & IV are correct.

59. &pssreamueuhdler ey ¢ furs Curdosi.Heieng: 2

A} pHodlufe — S.P. L. Ganyeira e

B)  oubled — SourTGL

C)  Desrsevest — 2|feneiuen

D)  Gspiwmeiub — Dol gd).

Which one of the following is correctly matched ?
J(ﬂ pH value — S. P. L. Sorenson

B) Acid | — © Faraday

C) Battery — Arrhenius

D) Germanium — Conductor.
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60. dpsecdon euple ag sflure QuIEHadDg 2

A)  obereug obarem(® S Lib — Geuemeveumileny 2 (HeUTé@sHe
B)  gpreug bsreo® Siiib — cumisoo Pl HOID &wei
C)  ellimeug sphgremi( Slilib — 2000 & pop Ceuemsveumilisny

sTE&HGD Golenaeu 2 (HauTHEGHsHee

D) ugsreug mpsreTE Sl b — Feps MO 6 eueTiFS  HmD
GO GIeUD.

Which one of the following is correctly matched ?

A) Fifth Five-Year Plan —  Generation of Employment
B) Seventh Five-Year Plan -—  Poverty eradication and self-reliance.
\,Q’)/’ Eighth Five-Year Plan — Employment generation leading to achieve

full employment by 2000
D)  Tenth Five-Year Plan —  Growth with social justice and equality.

61. ulgue I o ulgue I 2ia Quresd, £8p Qar@ssiul ferer shlihsamens
Carao () efiurs allosws Carmmbs@ : ’

UL g wey I g wes II
al 2 s GHTEN] BHineued I, urflen
b) Guuaen srliusn 2. Gomo
c)  medlw priseild saal obladud 3. plywrié
LD ST EETy emoLiL]
d) uenerm_{ Cevenraimenw eueniéd) bl 4. GQaesteur.
GUdpser :
a b c d
A) 3 4 2 1
Bj 4 3 1 2
C) 2 3 4 i
Dy 4 3 1 4.
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Match List I with List II correctly and select your answer using the codes given

below :
List I ' List II
al World Health Organization 1. Paris
b) Women watch 2. Rome
c) United Nations Educational 3. New York
Scientific and Cultural Organization
d) International fund for 4. Geneva.
agricultural development
Codes : .
a b c d
A) 3 4 2 1
\E{, 4 3 1 2
C) 2 3 4 1
D) 4 3 1 4.

62. Flalsepalla sy Bluwatd olglaug)
A) GUUTEHS Hemeveur
B)  Jrsw seownsst
C) D& HETEME FUNHTWEHT
D) Bidl seowéer,
The Chairman of the Finance Commission is appointed by
‘ﬁ/’ the President
B} the Prime Minister
C) the Speaker of the Lok Sabha
D) the Finance Minister,
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Fpaac Nysw Seowietnama sreaflasiufbse :
I. Al &0 ete 1k
. dm af 940
L $w. ercusgri amsudifl

V. Hp epdnCeait.

Qeudmystr :
A NLLI&V Bl IV, ILII&I
C) ILI0 IV & 1 ) vV, I 1 & 11

Arrange the following Prime Ministers in chronological order :
L. Charan Singh
1. V. P. Singh
lil.  Lal Bahadur Shastri

IV, Chandrasekhar.

Of these
QS & v B} IV, LI &I
C) L ILIV &I D) IV ILI&I,

Epé et eurbsluhisaend seuel

GaDDI (A) D 0Qrghs  sdigyrar wCrd) aeLeurTe smbdus GlereeTén
Clewiu’ L g).
sy (R) - whseoLy Golfuies. o pdliurfee pbismsset wHpD

spoghee dluandls Gargilioa srsdud Rl Dang.

A) (A whod (R) Grewin seum. Cueud (R) ewug (A) ope sfutes

16N & G060 60
B) (A wpmbd (R) @esoi @b 8], Gueud (R} eramiug (A) elib@ silwre allsnéed
c) (A el %@m (R) seuny

D} (A) seuml, Syerdy (R) el
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Consider the following statements :

Assertion {A) . The term 'ideology’ was coined by French scholar Tracy.

Reason (R} : Ideclogy refers to a set of beliefs, convictions and ideals of the

people.
Now select your answer according to the coding scheme given below :
Al Both (A) and (R) are false and (R} is not the correct explanation of (A)
vﬁ Both (A) and (R} are true and (R} is the correct explanation of (A)
C) {A) is true, but (R) is false

D) {A) is false, but (R} is true.

65.  atcumaereuhme’ @HEL  SIeest GG LT S 5 ae)Te @g;ﬁ&;@g;@&&ﬁu@mg;rj)@

SyuSITET @S BjdoeuTsHa) e o) 7

A} St @Qpdu @gosars GweHs GeuetiBHii

B)  geumie Ghd Guead, ug syl aupsals Qafbdmess Ceusm B

C)  eyeurr 35 suwg Honwsugne @)mes Geusto Hid

D)  @eur, wrhlemsaoatda e pidarres  SarhOs@asiul L

G]I :I"'-I'--_:i'_-|_”T5:> _(?I_].__i_..'?" & gi.:_}b:):ﬁf(::..'d.'f_‘.

Which one of the following is not a qualification required to be the Vice-President

of India ?
A) He must be a citizen of India
,)3‘)/ He must be able to speak, read and write in Hindi
C} He must have completed 35 years =of age
D} He must be eligible for election as a member of the Rajya Sabha.

66. &paseoeubdle erg eflure Curphan 2

Ay @pdw SlLbl e shens — T ihblgh!

B)  sllprpmige pmee SyEmnT — P. C. QevéaresorLi
C) @idlureller pges Qs (Trswor = @iy erpd

D) @idlurelis ppe garmilug —  CGpo.
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Which one of the following is correctly matched ?

A) Father of Indian Planning — Gandhiji

B) The First Governor of Tamil Nadu — P. C. Alexander
vC]/ First Woman Prime Minister in India — Indira Gandhi

D) First President of India — Nehru,

mIGTey eresin U8 58l6 *syuflan s eratublear Qummen
A)  Gaeeusmanetd sl HUUGSE80

B)  @onbauls Caemausaner yirsdl Glangey

C) g Sap@mauBur pupan wl (b Lisd GCleise
D) @emes e gib.

In the context of consumerism, the term "Aparigraha’ means

A) limiting our warnts
B) satisfying with minimum needs
) satisfying only what is necessary

\)3( all of these.

Th& W aeITe HTEhdleh anparenrsi Gamlles sl Ll g 7

A) Eome et B) @gevormd wCahdlyes
C)  (waeurd KySIboeuTnes D)  cpeimmd Bhdleuines .
The King who built the Kanchi Kaiiasanath temple is
J(ﬂ Rajasimman B) Mahendran I

C) Narasimma Varman I . D} Nandi Varman IIL
ereuBeum(pd @)t bMlmes HleameaiugGey

ZeeToes GCeulnTendGuest 1rugGun | - eaTR) LTGWeUT Wi 2

A) hli u.prrsmmr’r B) eueTeneumt

C) eymeavdlpram D)  @WLIGEHUIT.
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70.

71.

72.

73.

Who had written the following lines ?

"Ellorum Inbuttrikka Ninaipathuve

Allamal Verondrariyen Para Parameé’

\K]\ Thaiyumanavar B) Vallalar

C) Arunagirinathar D) Kumarakuruparar.

alng - G)aCeradlea seisumad GhhluesTD GL.bGubneTerg 2

A} auerQeni e @hbluey s B) QuaQgniiré @hilugusyn
C) 2 sGan méh @HBlugsFo D} @eoLs Ger.id @hhusisb.
Which type of Kutriyalugaram takes place in the word Viraku' 7?7

A) Vanthodar Kutriyalugaram B) Menthodar Kutriyalugaram
\Q‘V Ulyirthodar Kutriyalugaram D) Idaithodar Kutriyalugaram,
Hmperpsenard Q&T@SSeur Wt 7

Al (wgelb @oTerTeyeT B}  epeipmh @G H gy b

C)  podlwremint pold D) &smeis Goeul.

Who has compiled Thirumuraikal ?

A) Rajarajan 1 B) Kulothungan Il

\,l’CT? Nambiyandar Nambi D) Karuvur Devar.

CLIEHRETUNLBs NG mbgl uee Cndleamen aletdagn eriflub eg

A deuvudlergn B]  weNGuoseae

C) Fasdpymoes D) eusmemwrug),

Which literature deals with the five disciplines to be followed in life ?
A) Silappathikaram \97/ Manimegalai

C) Seevaga Sinthamani D)  Valaiyapathi.

‘Glasllweme BrpLgr stesim mredlest o Vflud w2
A} allemll) mraesTT B)  aUlert

C) Yo GapgenTi D) 05 &E6r eIl SnhEHetiT.
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Who is the author of Iniyavai Narpathu ?
A) Vilambi Naganar B)  Kabilar
\Qj/ Poothan Senthanar D)  Madurai Kannan Koothanar.”
74. yassalasse sndsdlu ysreld elng @ubpeut wri 2
A oapwss B}  dlovsmeud)
C)  wGyr® swblpestues D) @bdlgr uridsaryd.

Which one of the following persons got Sahitya Academy award for Puthu

Kavithai ?
A) Valramuthu B}  Thilagavathi
»Cf Erode Thamizanban D) Indra Parthasarathi.

75. Qarésrodur  @AudGh B, oupes wseret  Cuuur@esflda

&1 BT GG e s ews: GDILIHE .
A) &P B) el
C)  eeug) D)  uds.
How many Human emotions are mentioned by Tholkappiyar ?
A} Seven vB{ Eight
C) i\Iine _ D)  Ten.
76.  &Deumin Ggr_frasafd urydlurt sapre GaTL s &Ll Ha.
A)  pbirhe peeTenL
B)  gllper eranQprm @empesor®
C)  slowrmHeuadE 2 avialmen eTeley
D) &rsenad @mell erisen mrd).
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77,

78.

79.

‘Which one of the following poetry lines is not written by Bharathiyar ?
A) Nemirntha Nannadai

\)ﬁ Tamizhan Enruoru Enamundu
C) Thani Oruvanukku Unnavilaiyenil

D) Kakai Kuruve Engal Sathi.

wellgiaefle @Gaohaeic dpaubesssieupnet eg Bemed 2wibgs LSS
GHOSHe 2

A} Qaraberansd GanHEse B) #Qust ereiimen

C) OaretGeres erebimen D)  rlwer rsscn.

Which one of the following is considered as a great character in human being ?
A) Kollena Kodothal B) Eevan Enral
\(Z)/ Kollaen Enral D) Eeyana Erathal.

A Cowt srehda, Smpeusiehest 2 halld Hhs pravun Cleuetli Lot wr 2

A) &y Gurd B) &mé[HGeue
C) eadels D) aletiaGeurr.
Who released gold coin for Thiruvalluvar in British period ?

G. U. Pope B) Caldwell

A)
J{ Ellize D) Vinsulo.

QuUTEhHESTHOBE &L (HS

Ay eytiemeu B) o_hes

C) el eve D) hens.
Choose the odd man out :

A) Arivai B) Madanthai
JZQ Vidalai D)  Mangai.

GK640T |
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43 SGSY
& DESTERUD HIréve Ehel Qnusibaat apdug) o e 2
A} opiue B)  urflaéel Gur
C) Fert@enm sralwGinn D) Gurs (per.
Which of the following was written by Jayakanthan ?
A} Marrapasu . . \,m/ Parasikku po
——
C) Rallo Kaviyamo D)  Moga Mul.
HOIDIE Qargllées 5 sarlhsameans GNe@d amald 5 emenubisel 2 steret,
2ubDier e B HevLhser @bs 6Q&LTEDmes T alame 1
A)  eydlur, oG B)  eGuriur, gyiflden
C)  eGymiun, gevdl Gredur D) eGrriur, el @Goflban.
Olympic flag contains 5 rings representing five continents. Which two continents
do not touch Indian ocean ? .
A) Asia. Europe B)  Europe. Africa
C) Europe. Ausiralia ‘}Z)/’ Europe. North America.
&8y QerResiul feier aursiunseild agy wEEHEQHTmes sHamsbsduy-2011
UDDl HEUDTEST H& NS SEHADE 2
A)  sepdlrsdlbel Uing polQupn 75U 06661 eT e s SHeoi&Els My
B)  ‘BLg wHH0OFT@EHE s@udOHHLY Ko aHfeTeD aatug @S e
EUT & &HIDITEHD
C) @uws® slLhnsars peo_Cubng. all@ouw gwe b @@
gamdOlsHuY, wheeTtlgTasd samshbiaHiy
D)  eauGuél. sefall vhpd Eeeswd wwesTuGSHGeurt  ubPlu  BHeue
CosMas i alldemey.
Which one of the following statements is incorrect regarding Census, 2011 ?
A) 7th Census after independence
B) Slogan is "Our Census, Our Future”

C) Conducted in two phases namely house listing and housing census,

population enumeration phase

L]
JB( Information about mobile, computer and internet users are not collected.
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83. UJlameumueutaener usQorarusrog Hideeuwals sooagre Hublssiiuc Lot

w7

A)  phluysi g. aer. Gy

B) pdlugst . ol Gyl

C)  ddugsd e, e, §éd

D}  Bélugsi epir. af. &'r_i,;ﬁr,r@t'_..

Who among the following has been appointed the Chairman of the Nineteenth

Law Commission ?

A) Justice A. N. Ray
B~ Justice P. V. Reddi

C) Justice S. M. Sikri

D) Justice Y. V. Chandrachaud:.

84. Uereumevemeupmet @bglw flareu eubdlfesr Lewl) eyarsg aa 7

Al uGeuny wfliNemear epuTL CETL(HHH6T aphGSR

B) eysmassdhera amdlurss Qeauduied

C)  aukdlseilen aundluread Qeudbu@ad

D) safl BUTHEHEGS GLET CLLUGHSHE0.

Which one of the following is not a function of the Reserve Bank of India ?
A) Issue of currency notes of various denominations

B) It is the banker to the Government

C) It is bankers’ bank

.DG\ Issues credit to individuals.

"GKB40T
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85. wafle 2L dld g Ouisemelily ( Semens gavow ) apriGore e

S pAHGDAD 2
Al suenié 4l amin i Guomest - B) eybedlmdlen
C) eurGenmdlifidtes | D) m@gﬁ&@&.
Which one of the following hormones is called personality hormone ?
A) Growth hormone B) Oxytocin
C} Vasopressin Rl Thyroxin.
86. dpsacu cubmet Blead @udlu Carer wirg »
A) el B)  eleven
C)  yeewl G D) Gimpligy) e
Which one of the following is considered as dwar{ planet ?
A) Saturn B) Venus
\(Zf Pluto Dj Neptune.
87. Ep&saiie sabnsemen e :
@bFluralicy &l @b (PHETEID UHDE PR 6T .
I Bledaf ohob etléhanar
I, acoblemnl bHuib eury
i erasmQeoomi wi (G

V.  Blesammd.

A)  Topmd I eflureteney B) Il whmo I eflurerena .
C)  IMwl@b efurears D) I Hwpon IV eflurarena.
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88.

89.

Consider the following statements :

-Available primary energy sources-in India are

I Coal and Lignite
11 Oil and Gas
I1I. Oil alone

IV.  Electricity.

Of these
A) [ &Il are correct ‘ B) 1 & Il are correct
C) Il alone is correct .ET I, 11 & IV are correct.

&G QarEdsiufeamdle sfluraiamad CorhOa® :

A)  derare @flusme el Qeuluwrer g 26ue

Bl @& @fuesss el epstryy wlikg Geuliuwmes g

C) Q@8 GLTarg o6ie

D} @& bie odls gefitsdlunearsg.

Pick out the correct statement :

A) Lightning bolt is not hotter than sun
\Bf Lightning bolt is 3 times hotter than sun

C) Lightning bolt is not hot

D) Lightning bolt is very cold.

weolE 2 Ledléy Gudvuren GTss G@nsGameaile oyemey

A)  80-120 mg/100 ml B) 70-110 mg/100 ml
C) 60-110 mg/100 ml D)  50-110 mg/100 ml.
The normal blood glucose level is
&) 80-120 mg/100 mi B) 70-110 mg/100 ml

C) 60-110 mg/100 ml D) 50-110 mg/100 ml.

GK640T
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90. wliguwe I e ulguwe I 2 e QUi dGp CeanBheuul Reier @hllGHemmdb
Qarem @ afuren alent enwg CaihbGlEd) -

=k

Ueigues T L wen IT

a)  JSenssen 1. meul

b) Qurl@sen 2. Lok seurhsel

c) GIEOTTLITH6v 3. urswefiur

d werhes Cerdamae 4. B Gem.
GORsar :

a b c d
A) 3 I 4 2 o
B) l 4 2 3
C) 4 2 3 1
) 2 3 1 4.

Match List I with List II correctly and select your answer using the codes given

below :
List I List I
a) Fission 1. Yeast
b) Budding 2.  Flowering plants
c) Fragmentation 3. Bacteria
d} Pollination 4. Algae.
Codes «
a b c d
\M/ 3 1 4 2
B) 1 4 2 3
C) 4 2 3 ]
D) 2 3 1 4
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91. prelleven o mevenures 2 (hetd Oebgh weallafla GhGssaTans. 80 wrewaT g
2 6fi6T 6p(h euGLIIey 72 witeosieul &6t Hredemest 2 (hemé Qeww (Pud. 8 WIrEDTeur &6l
Qsiw Guerpairssi. @hs LeTllst griE wWHb EtE ) Ll &galisn
A) RGSHETn 90% HnGs Hetans 10%

B) QhEGHEETOL 10% EkEgs Haamn 90%
C) PRGHHET0 20% HHkGs srann 80%
D) gpagsgdiawn 80% aHkesd sataow 20%.

Rolling of tongue is a domiant character in human beings. Out of 80 students in
a class, 72 students are capable of rolling their tongue and 8 students not. Find

the percentage of dominant and recessive character.
.A’{‘ dominant 90%. recessive 10%

B) dominant 10%, recessive 90%

C) dominant 20%. rccessive 80%

D) dominant 80%. recessive 20%.

92. ulguwée I & ulguée I 2@ Quress. £8p QaniésiuPerer GHREmens
Qaran® sflure ale_ows CaThsH

uligwen I uligweo II
a)  WHO 1. oalsab o 0 &GaTeTpn
b}  NPCB 2. Ceéu QampGpmi eullius
AT
¢)  NLEP 3. Gaélu uniemsu Crrwé

S EULTL S LD
d) MAB 4. 2 & GETHTY HleusD.

A) 1 2 3 4
B) 2 3 4 1
C) 4 3 2 1



93.

o4,

49

SGSY

Match List I with List II correctly and select your answer using the codes given

below :
List I List 11
aj WHO 1. Man and Biosphere
b) NPCB 2. National Leprosy Eradicating
Programme
c) NLEP 3. National Programme of Control
of Blindness
d) MAB 4. - World Health Organiation.
Codes :

A} 1 2 3 a4

B) 2 3 4 1

o 4 3 2

D) 4 ] 3 2

2011 weeaGlgroms seamabaullauy urelar alldiand dlsn 2 sier wrbladams

GOILVIG& .
A)  sblpErE B) et
C) Qs D} eomrs.

Find out which state has highest sex-ratio as per 2011 Census :

A) Tamil Nadu B) Bihar

\,Q')/ Kerala D)  QGujarat.

euasoTL gid@ Sipuy Garlug seurilev,

Gleareneanse fply Cerlug Geliuré&sn

QaTdssgTame sinliy Cariug FLET &TT_eTen 66,
dlifletuni s srabE Sply Ceradlpeg

A) CE\[GE: . B) evamsrrund

.521 BT eBILLT D}  mray.

GK640T

[ Turn over



SGSY 50

95.

96.

If Lords is to London,
Chepauk is to Chennai,
Eden Garden is to Kolkata
then Green Park is to
A) Indore B)  Hyderabad
C) Kanpur [3) Nagpur.
sowhGrTeril a&Gleue eflc.'pe'saago'ml_surr@ LWesT LR &l &
A euemTLLD 2 (heunédhs B) DL OLIGTTIRIF 6T 2_(HeuTHh&
C) @evenny el 2 eueu D) gelsCamiysamen o (heunés.
Microsoft Excel can be used for
\K creating charts | B) creating documents
C) navigating web pages D)  creating sound files.
yellb@d anpdlyaud@b @l Guures ity alevallanme o msuToug
A) 2{5 60 & 6T B)  gaheel
C} pCyrldsen D}  @esimdl.
Which is caused by the gravitational attraction between Moon and Earth ?
A) Waves LT Tides
C) Currents D)  Tsunami.

SEUDTET Q)emeToT erg) ?

Al AfleEQasl — )l Germg b
B)  &méupgl — wiyGLmeoTm

C)  Queredilan — greslwum lrer

D)  ammédl — Qg WeorT @E)U'Jsuﬁei).

Which one is not correct ?

A) Cricket — Vinod Kambli
B) Football — Maradona

\ﬂ Tennis — Sania Mirza
D) Hockey | — Saina Nehwal.

GK640T .
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sefloam sabs By gru GrTe wrHPOLWEUGHSEURD Gurgsurea CeudiGmmen
gy 7
A) FVEmESH HT e B)  wgearhd
Q) @lermflar o gy &aav( D) o g
The common chemical used to purify muddy water o drinking water is
A) bleaching powder \Bﬁ/’ potash alum
<) chlorine dioxide D) copper sulphate.

B DHGHE0IL. eUTHE UG enaTdh Salah :
Fa DM (A) L seedlD seuay [ UTad Benrd STLELILDGSHMI6 o sading.

smgeooid (R} @la @ esuailadl wped Blowpd Oambflapen augsl Gud @b
GO seballes euflGu oussd Geaussesre  bisE
SienalleuTan (peHemmIGel WHID SeNsel Bés Dl armer.

gpsaramusupiles  erg  sflwrerg 2 $Cp @Bl Geten @O s  aflurer
e cowsd Coiplla®

A) (A} whmis (R) eflureseneu

B)  (A)sflures anhiny syeoimes (R) oishe eflume allerdhan oi6ve
C)  (A) geupnesgl, gyeoird (R) & flwre g)

) (A) Db (R} seummestenew.

Consider the following statements :

Assertion [A} :  Reverse osmosis is used to purify water.

Reason (R} : It is a membrane technology filiration method that removes
many types of large molecules and ions by applying pressure to

the solution on one side of a selective membrane.
Now select your answer according to the coding scheme given below :
‘j(p ‘Both (A) and (R} are correct
B) (A} is correct, but (R) is not relevant
C) {A) is not correct, but (R) is correct - ‘

D) Both (A) and (R) are wrong.
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100, wiguwé I g wlgwé I 2 Lett Quimgdl, 68 Carfszsnu Gaa @llifsamens
Qeranf sPure el ows Caimlia()
ULgwes I uciguee 11
al Qeule emedl . 0Gydle
b)  dlflevguer Grremmau@Ln 2. ytOigedmgesn
c) wr@Lmem ) 3. @\, &t o eaTL
d)  Quresrmeug e Camrm 4. @Edlarha. )
GO Dser N
a b c d
A) 2 3 4 i
B 3 4 1 2
C) 4 3 2 1
D) 4 1 2 3.

Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) Wayne Roony 1. Brazil
b} Christian Ronaldo 2. Argentina
c) Maradona 3. The Netherlands
d) Ronaldinho 4. England.
Codes :

Al 2 3 4 1
B) 3 4 1 2
o a4 3 2 ]
D) 4 ] 2 3

GK640T (801 |
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